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This exam is worth 100 points; Although
ample time is allowed, the student is
advised to allocate his time wisely. If
your response to a question requires more
writing area, continue you response on

the reverse of the page.

If you require assistance, raise your hand

and a proctor will assist you at your seat.



The following questions are worth 3 points each.

My
o

Program maintenance is the process of

assuring the operation of the computer by periodic scheduled maintenance
of the CPU.

changing or modifying programs from time to time to keep them up-to-date
and useful.

modifying the data collection and data entry system when new situations

arise so that the program can be used with no changes.

re-punching cards as they become too worn to be read by the card reader.
none of the above.

Parameters are used in a program to

a.
b.
(e

d.
e.

complicate the program for security reasons.

simplify the debugging process.

make the program more applicable to a variety of situations without
modifying the program.

create a program that is easy to document for future use.

both ¢ and d.

Subscripts for an array

a.
b.
e
d.

can be any integer number.
can be any FORTRAN variable.
must be in integer mode.
both b and c.

A sequence of statements that are executed repetitively for a specified
number of times is a(n)

count-controlled loop.
uncontrolled loop.
condition-controlled loop.
DO loop.

both a and d.

documentation package for a computer program should include

instruction on how to run or use the program and a description of what
the program does.

description of the input and output files.

a flowchart and a program listing.

the variable names used in the program and a copy of the test data used
with the results.

all of the above.

STOP statement

is a nonexecutable statement.
causes the computer to terminate running the current program and allows

it to proceed to the next program. :
indicates to the compiler that the entire program has been read and

that translation may proceed.
must come at the physical end of each program.



'Which of the following statements contain an error?

D@ 26 I=J,K,X
IF(X+2..EQ.Y-2.) G@ T@ 20
D@ 30 J=1,LAX

D@ 40 M=20,45,11

. none of the above

(L = P o T« i 1)

Debugging is

a. the process of detecting and correcting errors in your program.

b. the process of translating a FORTRAN program into a machine language
program.

c. defining the data that a FORTRAN program can use.

d. the method used to collect the data that will be used by your program.

e. none of the above.

The format specification used to print the variable T¢T whose value is
44226.1 is F7.2. What kind of output will be printed for this specific

+data field?

a. 44226.10
‘b. XXXXXXX
. Kkkkkkkk
d.: - FELLTLE

Diagnostic error messages provided by the compiler

a. result from FORTRAN syntax errors that make it impossible to translate
the program into a workable computer program.

b. result when the network of decisions in the program does not properly
isolate the conditions that may arise.

c. indicate that test data should be used to find the source of the error.

d. result from a mistake in the deductive reasoning process used to design
the program.

The following question is worth 8 points,

Sk

Consider the array ALPHA dimensioned with 7 elements:

ALPHA: g 7L <180t 6o | B2 luekes 19,0 | 7.7

a. What statement is necessary to reserve mcmory space in the computer
for the array ALPHA?

- Dimewsign _ #irns [(7) St

b. If L=3, specify the value of each of the following array elements:

1) APHAQL) = 6.5

2) ALPHA(L+5) = uu:(:#ﬁec/ /‘sf}jﬁd

(I‘dunJ uf>

3 ALPEA(ML-1) » = Bl

4) ALPHA(6-L) = Mol a.//owzf
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The following questions are worth 4 points each.
In each of the following questions specify the value of each variable indicated
after execution of the set of commands.

3.2 A=10.
Dp 10 J=5,10 -
10 A=A+10. Y um&#ma{ 2pt

A= 70, wff

13, K=0
D 40 L=1,3
DP 40 M=2,5,3
40 K=K+L+M : K

]

ek J

14, KAT=0
D$ 20 1=2,8,2
20 KAT=KAT+L KAT= O * pt

vnde bued 1 p*

ct
]

15 NEW=10
DP 30 M=4,12,3
NEW=NEW+M :
IF(NEW.GE.30) GP T9 40 : e
30 CONTINUE NEW= 3/

40 A M= /0 'er

l\a‘\L

7 /Mﬁ;/ 4“d2 gt s poved,
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Given the following input: yé Ce 7‘ uféﬂéo,«)

k- / '

Card Column Description /b,S /A’/J% OU# o
1=9 1.D. No. \f/vf‘S/Qéas,-oA)
10-37 Name
38 Sex O/o)% /C7 Coor éox ouF oF
39-40 Age o
41-42 : State Code ' : " ,
43-45 Hours Compl.eted \5/""’{5/6’860‘/0/&,04:1'4/4&/&4)
46-47 Concentration Code ;
48-49 Second Concentration Code b-f?/ ouT 0}[, oetee
50-59 Telephone No.

Prepare a detailed flowchart tc represent the program that would produce
a list of senior (at least 86 hours completed) males (sex ccde 1) with a
concentration in Business (code 26 in either columns 46-47 or 48-49).
Each line should include I.D. number, name, and tclephone number. Also,
you are to print the number of males.

¥ Z/}Sf //d/ut‘ /< dc:wc/ A’/hr /
Vs /U7/;7fu’c 7, AL il PP

4?‘

Vi /)71551»7’ A pame

VARIAB =5

¢t

s Tl
/’UCO/GZ(Z&ZZ /?/f/%

SR A
/A“ %%%" ; ‘/2/;‘/4,7 Ve
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(16 pts) 17. Consider input cards with the following layout: //of /‘.‘./p fgrrend b

Card Column Variable Name ;ft 'A“ onch A‘”M.‘é
1-5 ISN(b (integer) j/’é Br. GO 71D agcl.
6 KADE
10-13 EWE (XXXAX) ConFruvé
18-19 GNU (X,X)

The following flowchart computes a value Z@¢ which is to be printed at the
top of a new page in the following form: THE VALUE OF Z@@ = XXXXX.XX
(with the X's replaced by the value). On the coding form provided, write
a complete FORTRAN program to implement this flcwchart.

‘ START }

Zpp=0.

READ IDN@,
KPDE, EWE,
CNU

D I=1,KPDE

Zpp =
EWE*GNU+Z 99

1
)

e mr iy




NAME : . PROJECT i: CARD COLOR: PAGE OF PAGES

DECK ID: DATE: TRANSCRIBED BY:

C FOR COMMENT \\o \Q,o.\n&%\. \\NQ\\\ F.\k\t
I

TATEMENT |

I1D

: zs::u S ? it . 5 310»:;“”_ m;qm.“stq " < i (*;\ms:\. ﬂp u?ﬁao:m dé 547
Z0RE 0.0 _ : Y _ e, _
90| AN (5, 1) 22N | KedE, Fue, snu £ _ _ _
/| FoennT(Z:5, 2/ \3x, Fe./ 4K, F2./) J _ :
T/ F138.,67.0) Ga 70 900 _ L. | _
e (Kede . vE3) Go 70 9b k. _ | _
CoBR A WA A Ta a0 A, . _
20Q § £WE * G, + 288, _ g 7 ; _

T R D i ek e lew o waloa et g
;QO\NvMBL_ Ty o R e Y ! 1 = I
209 \WE,/7e E T L o e N& L pts. _ _
FoRHpT [ {1 'THE Yocve o 2008 = | FA2) S ; _ .
E Sl _ : el T ; |
EXD \ ) : s T A _ _
1 1 1 1 1 1 1
1 1 1 M e 1 1 1
1 1 1 m 1 1 1 A
1 1 1 3 | 1 1 1
1 1 1 1 i 1 1 1
1 1 & 1 1 PEVENTY | 1 1




